A MBI

A 2 0 & AHE

Al A

BE: UEHY &2 (LUDDHT/NLBT - WYX L)
&l XNPA==2 HEH &5 (EEREED)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
NIE 1,257,994 1,210,889 47,105
= 188,465
& 20,000
Al 1,049,529
A= &8 (LersSHE/XNLHE - WEXIF) 801,673 756,559 45,114
= 188,465
T 20,000
Al 593,208
NZMl==2 CHEA == 564,417 543,050 21,367
= 188,465
& 20,000
Al 355,952
KA MG RF=E KA 175,307 152,518 22,789
T 20,000
Al 155,307
101 @124l 20,000 0 20,000
& 20,000
M IIZtHZ22SE 20,000 0 20,000
OXYAl 23 Als2te] ZAH 20,000
SRuE 93,8402 x 1 *143 13,420
& 13,420
oFgg 93,840 x 131 2,910
& 2,910
oE X2 4t 93,840 x1H+6 564
& 564
=oEZ 0| 10,0002 120 1,200
= 1,200
cAHEE 1,906,000 14 1,906
= 1,906
201 et | 84,122 80,521 3,601
01 AtR2elt] 84,122 79,261 4,861
Oget=ZH| 70,522
oXIZA OXIAM M= 33,046
/N2 (HSAH, SEHEIM(SE)) 2K
N 43&+90,0000H 3,870
N2 (SEHSM(HE), KLLEA)
XA 433 +30,0000H 1,290
—=AZ(SEHAM(HE), KNLLEA)
DRIA 432111,0000H 473
- AMEZ(HSAH, SEHM(ES))2X
A 4331%7,5000H 323
-&J|2 SEYUHAM LXA
433 +50,0000H 2,150




2A: HME
M UFUE 22 (LS /NLHY - HEXH)
=Rl KAl 3 &F (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
- NS (BO12, =AIE, ¢Y) XA
432 %198, 0000H 8,514
—HI|I2 MAAN(H=S, &dE, F=) X
A 4321%134,00004 5,762
—&I|12 MAA(EX, F=&) DXIA
432%105,0000H 4,515
— Al OHIZ, AIIAR) DXIA
432 %143,0000H 6,149
XA LXA ol & S8 27,676
-&J|2 SEUHAM LXA
442150, 0000H 2,200
- NSXA(FIIZ2, =AM, dY) DXAM
4432 %197 ,0000H 8,668
—HI|I2 MAAN(H=S, dE, F&) 07
A 443 %134, 00004 5,8%6
—F=0IA (OfelZ2, AFHAR) DA
442 %143,0000H 6,292
—&I|12 MAAI(EXI, =&) DXIA
4432 %105, 0000H 4,620
XA =AE DXAH SEHl
11&*30,0000H 330
<=J|Et HIZbl 9,470
—KNSASH AR CHHZKL
4503 *7,0000H 3,150
—MOIXIYASAH AMDON(2FIHSA DA
) 602 *30,0000H 1,800
- NLASH g2 CHHZ
100&*10,0000H 1,000
—AIZIZO0HQ! HXOHHAZ
2,000&*120Y 23| 480
- XA e=223SXA
80& *6,50021*23| 1,040
—0==Al RFEHAA B& 2ISAH
200,000& =10 2,000
ORI =] 10,000
CHRYYTL N0 A3t DS
10,000,000 14! 10,000
Oo2g=< 3,600
o XAl AoPds &M =5
100,000 & *9H »43| 3,600
202 0441 17,180 20,130 A2,950
1 2LHOHI 17,180 20,130 22,950
OTHEEA 20t 23 2B01H8, T - W=, R
E3H S ASSTA
20,0003 *3H =152 900
OMAAl 21 23 EXI01S AENEA
20,0003 x5« 12 1,200




2H HED
B2 N 22 (8D
o

SF/NNLHE - THEXIE)
=R NgA=2l HEH 2E

5 SIE!
S S(EH) - NRA - BAS Ofl aro gﬂ&of" HDE2
OTALAI SI2IH 2|, O|9alE S S X EA
20,0002 x4 %12 960
OMAAl BIHAI, ZHASH S XIEA
20,0002 x4« 10 800
OMALA 22010 (2 datns & 92 &9
110,000 x2EH %22 23| 880
O&EIIZ MAAl &0 Y= EXEE
20,000 x2H #»4 2L +23| 320
ORI DNE FEAM, SSHGAM 28 a2
X =l 20,000& x2H +x32U 122 1,440
OSEHGAN HMAE &3 2 =&
0,000 x2Z *4 2L x23| 320
OFSH HNUHASH(EX, HES S) A
EH 2= AL 1,840
o XN|SHIEEKX AEEA}
20,000& *3H 22« 103] 1,200
oIIEAEFZ AENZAL
20,0002 x2H x2 2«83 640
OHI Ml AHHASH(EX, HAES, ASKE
S) LHXA 1,380
oZ1, MAH S HIA 2HESAH LHE
At 20,000 *3H x3 x5 3| 900
oH| ANl 2H XIsSXF LHIZEA
20,0002 x2H x32 x4 3| 480
OXNSXIM & SECHSGAM YL E2Sd
20,000 x2H x4 2«33 480
OEEHGANI, ANEXHAl datE =AM
110,000 #2222 33| 1,320
OBZAS, BZNT 230 012 €2 L
EHATR B
110,000 x3H 22 23| 1,320
OXEAEM ADXE SXEAILY EE
20,000 *4H #4 2L +4 3| 1,280
OFVM(AILAR) BHTNA A L 27
20,0002 x2H x3 2 x5 3] 600
OXYASH HAHR)DS &A
110,000 x2EH 2 2 33| 1,320
OAXIAE THAHSREFHE) AENEAF
20,000 x2H x3L x5 3| 600
OXIZLNISHSY 22t ST &A
110,000 x2S« 1! 220
203 22 =&IH| 1,000 0 1,000
03 AIBEF=EIH 2= KIH| 1,000 0 1,000
OXEME 92 =8
1,000,000 = 14! 1,000
301 B8N 2 5,000 5,000
14 J|EIE A2 5,000 5,000
O Al SEYMNX ZAS
50,000& %100 5,000




2A: HME
B N 2 (ANDDHI/ N LB - HEAR)
ohel: MgkIaol OHEE =tE COR
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
306 == 48,005 46,867 1,138
01 2932 48,005 46,867 1,138
OXIZAl 2&IIZ 5212
48,005,000& 12| 48,005
=2 N3 g2 12,180 12,300 2120
202 0idl 4,680 4,800 2120
01 =LHO4 b 4,680 4,800 A120
0ol HH FERD 27
20,000 +2H 102 *43| 1,600
Ot ATH EHol NISZA
20,0003 2B *10 *43| 1,600
Ogeol UM, 2 22 SXIZA
20,0003 x2H x5 2 x33] 600
Oz ATH ol NSZA
110,000 x2Z x2 2 23| 880
303 ZAS 7,500 7,500
NEZE 7,500 7,500
OXIH 22 SUHE L2 43
150,000, 000& *5/100 7,500
HES INEFE DFZ AL 376,930 378,232 21,302
= 188,465
Al 188,465
101 @124 d| 82,495 81,283 1,212
= 41,247
Al 41,248
M IIZINZ2 2SS ES 82,495 81,283 1,212
ONGEZ=HELRAL HEXALA 82,495
o Q129 80,2403 4B +52 34 54,564
= 27,282
Al 27,282
oFgg 80,2403 x4 H 34 10,913
= 5,456
Al 5,457
o uEH| 10,0003 *4H+52 x343= 6,800
= 3,400
Al 3,400
oASIEEE 7,818,000 * 14| 7,818
= 3,909
Al 3,909
oIl=Hl 150,000 *4H 600
= 300
Al 300
o ZtAIH| 3,0002 x4H %150 1,800
= 900




M MEY
A NEGE 22 (LUDDHT/ LB - WEY)
SEENSAEITVEN-TRETE EgE (crel: m2)
SN - BH - SRI(EH) - MRAR - BAS ofl st e HIDEY
Al 900
201 Let=23 | 288,405 290,439 A2,034
= 144,203
Al 144,202
01 AtR2te|HI 288,405 290,439 A2,034
Ogegt+=EHI 283,365
cHEFEIIEA SE2ES NS 9,689
-SD8 #aY
280,000 574 2=x12] 1,400
= 700
Al 700
~HAIHE &40
80,000& *307H A-*32] 7,200
= 3,600
Al 3,600
—gre 11,0002 *33 74 A+33! 1,089
= 545
Al 544
o112 JIE HBEE AT ASL42
6,700&+39,500= 264,650
= 132,325
Al 132,325
o612 JIE NBFEY MFII AZL4R
8,400& +600= 5,040
= 2,520
Al 2,520
oIEFE oAHE B 24+8(1.1. /6.1,
IE) 8,400& »40= 336
= 168
Al 168
SIHEFE O|2ME HE +4+2(1.1. / 6.1.
E) 27,5003 x20= 550
= 275
Al 275
oOIBAl BEFY TAYS 248
120,000 +20= 2,400
= 1,200
Al 1,200
oIHEFE LA HEE AR2E S 7Y
700,000 *14] 700
= 350
Al 350
Oo=g=g 1,800
CIHEFEIIAZE HoA(RSLIZEIA
) B4 ¢
100,000& 9 *22 1,800




2H: HED
HE: NEHR 2 (UNDDHT/N LY - HIN)
OIFN ==

=l XM= A (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
= 900
Al 900
O=4a| 9,000&*3H 10+ 12& 3,240
= 1,620
Al 1,620
202 0idl 6,030 6,510 2480
= 3,015
Al 3,015
01 =LHO4b] 6,030 6,510 A480
OsAXNG HEFE E4 XA
20,0002 *3H+8L 11 5,280
= 2,640
Al 2,640
OZMNXSG IHEFE S SR ZA
50,0003 «3H+5 750
= 375
Al 375
NEA 22 & NLAE H23 237,256 213,509 23,747
NN 228 23t 35,528 51,448 A 15,920
201 B2 AL 35,528 51,448 A15,920
01 A=R2teld| 29,840 45,760 A15,920
Ogdet=gH| 29,840
oXIYAl ey TV - 2t 210& 13,200
—HI|I2 MAA(7 - 98), AHSIHAI(6 - 128)
3,300,000& *23|x2& 13,200
oHIIZ NYAH 22 EE2EE M (A
NSAt - 0 - SEHSIA) 8,160
-FnE
200,000 *4 I 2~ +62| 4,800
— AHIAICH 80,000 x4 I A~ +63] 1,920
— ket 6,000& *40 I A *63 1,440
oXEYASAH MIIHSE SE2EE A 4,080
-FnE Y
200,000 *4 1 2~*32| 2,400
— HIAICH 80,000& x4 A~ *33] 960
— izt 6,000 *40 I A~ *33 720
SKZMEINZN HE =2 A M
11,0002 *40052 4,400
02 2224l 5,688 5,683 0
02322 £ HMAl 5,688
o XYMl S22t 22X HAIKI 8& 3ld
INE=3=2 50,0003 «1CH* 123 600
o XAl SReHH 22X HIAIXI 8&2
10.6&%40,00021*12& 5,088
NS EE MAAAR 22| 2 201,728 162,061 39,667




2N

MIE

M UFUE 22 (LS /NLHY - HEXH)
o2l XA 228 & NYHME 323t (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
201 B2 AY| 48,59 56,436 AT,840
02 S==29| 48,5% 56,436 AT,840
OAE&EHIRXIHI 48,5%
o XIYAl SEMLAEH R B+
1,600,000& * 12& 19,200
CHYSE MRSUELR U POISLAAE
A B 1,481,660 =123 17,780
oNE SIIMEIAAAE RX B
968,000& =12 11,616
202 0idl 740 740
01 =WOdLI 740 740
O -9 -5 XYM daZ208 22| X &(
SN HEL) 20,0003 =2H *1 2«83 320
OXNYA MAZ2 e 2| XS (EH, Akt
o) 50,0003 *2Fx2 2 *13] 200
OXIZA MAuZZ= ) 2H22| W=
110,0003 1422 *13| 220
308 AXISHMSOIN 139,992 91,885 48,107
13 BI |2 SUICHEH B A E L EFALH] 139,992 91,885 48,107
020259 NLMBES A (2, 2X122]) 139,992
SXNMIHEZEXNLAEEAIAE 2, KA
Zteld| 139,992,000 * 14 139,992
405 KHHE S| 12,400 13,000 AB00
01 ML SEFHSHI 12,400 13,000 2600
OL=F XA d2E MAEH UM 2 12,400
o228 FEH(PC) 1,300,000 *2CH 2,600
odlOId =2l 1,400,000 *7CH 9,800
HH2AAHI(ME D) (DIEHIIE 456,321 454,330 1,991
ol 2g| 31,623 31,623 0
olE2HY| 31,623 31,623 0
101 214 d| 31,623 31,623 0
03 SR (RIHL) 22X B 31,623 31,623 0
OAIt2I22+Y
14,6402 x6H*20A| 2H+ 12 *150% 31,623
J|1E2&l 424,698 422,707 1,991
J|1E23H| 424,698 422,707 1,991
201 B2 AY| 410,522 409,118 1,404
01 A=R2teld| 50,522 49,118 1,404
OYLLr2H| ZHH A
20,973,000 3 *14! 20,973
O=4t| SHH & 29,549,000 14! 29,549
02 324l 360,000 360,000 0
O32323 £ A SHAHA
360,000,000& * 14! 360,000
202 04d| 8,596 8,069 527




2A MED
I AH2IFHI(ME D) (OIEH/IIED
cHel: Jl= | (ol @)
5 SIE!
SA - B SRI(S) - MRAL - BaS ot e HIDE
01 =LHOHI 8,59% 8,069 527
OFAN2Y B 8,596,000 *14] 8,596
203 gF=4| 5,580 5,520 60
M EA2LR=AH 5,580 5,520 60
OAIE 1H43)
(400,00021+(5,0002 138 )« 12& 5,580




